
Slip Fitter bracket installation instructions
1. Fix (2) the slip fitter bracket base to (1) the lamp body of the lamp with (4) M8*16 hexagonal cylindrical head screws, and 
tighten with an M8 hexagonal wrench.
2. After adjusting the angles of (2) the slip fitter bracket base and (3) the slip fitter bracket arm, engage and fix them with (5) 
M12*35 hexagonal cylindrical head screws, and lock them with an M12 hexagonal wrench.
3. Fix the (6) standard cover on the (2) slip fitter bracket base with (8) M4*8 cross-recessed screws. After locking it with a 
cross screwdriver, screw the (7) G1/2 plug into the threaded hole of (6) standard cover.
4. Install the assembled lamp on the lamp pole through (3) bracket arm, and adjust (9) M8*35 hexagonal cylindrical head 
screws and (10) M8 nuts to lock and fix.
5. To adjust the angle later, unscrew the (7) G1/2 plug, slightly loosen the (5) M12*35 hexagon socket head screw, turn (2) the 
slip fitter bracket base, adjust to the required angle, and then tighten (5) the M12*35 hexagon socket head screw and retighten 
the (7) G1/2 plug.

Yoke bracket installation instructions
1. Fix the (11) Yoke bracket on the main body of the (1) lamp body with (4) M8*16 hexagonal cylindrical head screws, and 
tighten it with an M8 hexagonal wrench.
2. To adjust the angle later, remove the (12) M5*16 cross-recessed screws on both sides with a cross screwdriver, use an M8 
hexagonal wrench to loosen the (13) M8*20 hexagonal cylindrical head screws, and rotate the bracket. After adjusting to the 
required angle, re-tighten the screws.

Bracket Installation Instructions

(11) Yoke Bracket

(1) Lamp Body

(1) Lamp Body
(2) Silp Fitter Bracket Base

(4) M8*16 hexagonal cylindrical head 
screws

(3) Silp Fitter Bracket Arm

(4) M8*16 hexagonal cylindrical head 
screws
(5) M12*35 hexagonal cylindrical head 
screws

（6) Standard Cover

(7) G1/2 Plug

(8) M4*8 cross-recessed screws

(9) M8*35hexagonal cylindrical head 
screws
(10) M8 Nuts

(12)M5*16 cross-recessed screws
(13) M8*20 hexagonal cylindrical head screws

For use with 200W & 450W models


